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BLUE PRINT

SA-2

I II

1 2 3 4 

3 (3) 2 (4) 3 (9) 1 (4) 9 (20)

1 (1) 2 (4) 2 (6) 1 (4) 7 (16)

1 (1) 1 (2) 2 (6) 3 (12) 6 (20)

2 (2) 1 (2) — 1 (4) 4 (8)

2 (2) 1 (2) 2 (6) — 5 (12)

1 (1) 1 (2) 1 (3) — 3 (6)

10 (10) 8 (16) 10 (30) 6 (24) 34 (80)



156 X – Maths

X (SA - 2)

 : 3 3½  : 80

1.

2. 34 A, B, C, D 

A 10 1 B 8 

2 C 10 3 D 6 

4 

3. 1 10 

4. 1 2

3 3 2 4

5.

SECTION A

1 10 1

1.  2x2 + 13x + 11 + 0 

(a) –13 (b)
13
2



(c)
11
2 (d) –11
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2.  –5, –3, –1..... n

(a) 2n – 7 (b) 7 – 2n

(c) 2n + 7 (d) 2n + 1

3.  P, Q  R AB = 6 ,

BP = 3 ,  ABC 

A

CB

Q R

P

o

(a) 12 (b) 18 

(c) 9 (d) 15 

4. 8  12 

 30° –

(a) 10 (b) 12 

(c) 8 (d) 4 

5.  y + 3 = 0  2y – 5 = 0 –

(a) 8 (b)
11
2

(c) 6 (d) 5 
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6.  .
12
x

 

 
2
3  x = ........

(a) 2 (b) 3

(c) 4 (d) 6

7.  –9, –14, –19, ............  a30 – a20 

(a) –50 (b) 50

(c) 10 (d)

8. 6 45 

4 

(a) 3 (b) 4

(c) 5 (d) 6

9.

(a) 30° (b) 45°

(c) 60° (d) 90°

10.  (0, 0), (3, 0)  (0, 3) 

(a) 6 (b) 9 

(c)  2 32 (d)  2 22

SECTION B

11 18 2

11.  3  6 11  15  
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12.  4x2 + mx + 1 = 0 ‘m’

13.  5   3 

o

B

R

A

Q

DPC

S
r

29 

23
 

5 

14. P PA PB, O 

APB = 2 OAB.

A

O

P
B

15.  3  3 

1.5  2 
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16.  4 9 

17. Y-  (–2, 5)

 (2, –3)

18.

(a) (b)

SECTION C

19 28 3

19.  8 

5 
3
4  

20.

    
       

1 3
2 7 5, 3, 1

3 1
x x

x x
x x

21.  ABC  4 

 D, E  F  AB  AC 
A

BC D

EF

o

8 6 
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22.  2.2 0.50 

 14 

(Sweep) 

23. –4 29 

150 

24. 10 300 4 3 

25.  10  8 

26.  ABC B = 90°  34AB    B  C 

 (4, 2)  (–1, y)  ABC  17 

 y 

27. 1, 2, 3 ‘x’ 1,4,9 

‘y’ 

 9 

 12 x  6 

x

28.  (x, y), (–5, –2)  (3, –5) 

3x + 8y + 31 = 0.
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SECTION D

29 34 4

29. 6 

5 

90 

15 ½ 

30.

31. 12 28  16

 12

 (a)  (b)

32. 12  15 

12

6

33. 20 

45° 60° 

34.  36 

 3  6 
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 440  14 

 20 

 2 

1. b 2. a

3. b 4. c

5. b 6. c

7. a 8. c

9. b 10. d

11. 67 12. m  4 or m  – 4

13. 8  or 
11
2 15. 5 

16. 6 17. (0, 1)

18. (a) 0, (b) 
1
2 20.

23
, – 1

5

21. AB = 15 , AC = 13 22. 112  10.26 2

23. d = 3 24. 73

25. 8 : 7 26. y = – 1, 5

27.
5

3.
9 29. 10 15 

45 

31.
3 22 6

10258 , 3318
7 7 32. 10

33.  33 20 3 1  34. 72  1355.20,

1056 


